A Few Questions About Rates and Equilibrium

1. USE THE FOLLOWING DATA FOR THE REACTION: A + B —> C
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d. What is the overall reaction ordM' & v /'y[@

2. Forthe reaction A + B <--—---> C youare given 2 moles of each product and reactant and enough water to
make 5 liters of solution. If all substances in the equation are water soluble, which way will the reaction proceed
initially in order to reach equilibrium? Kc for the reaction is .25 Defend your answer.
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3. When the following system is at equilibrium,the concentrations o carbon dioxide and hydrogen are .640 M while

the concentration of water 35 .185 M. '& E C()-){, l 41 b

O2(9) + Ha®) <> CO( + HO(@ (Cou) (1]
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